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1O: To muiﬂlnlg a ‘f-d.lgtt mun.b.erhy a I-djgi.t number
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multiplication.

[ can multiply a#-di.gi,tnumb,erby a,f-d,tgt‘,tnumbar.

IWLdEJSWLdetOLsusadasaplacq}w{dzrwhmﬂmmwdigdsm
a.pba,czvuiuzcctum.

F l,a,shba,clc L .

Change 7 to a mixed number.

3

7 _[]

Complete 0~ 30

Work out 165 X 7

Annie has £27. She spends £450

How much money does she have left?



[
)) Change 3 to a mixed number. [

2)  Complete . D D

10~ 30

3)  Work out 165 X 7 CJ

4)  Annie has £27 She spends £450

How much money does she have left?




GET READY

1) 20 + 20+ 20 + 20 =

2)4 %20 =

3)4 X 200 =

4) 4 x 400 =
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Place Value Grid

Calculation
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138 x 3|
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On whitehourds, use the P,La.ce
value 3ri,d, to h,elp, you calculate

O

!

3

3

3




M Calculate 3,223 x 3

Th H T O
3223

Thousands | Hundreds Tens -
0000 OO0 000
00000 OO0 000
00000 OO0 000

TA group to use P,La.ce, value charts and

mampul,a,ttm t(rmuLtLpJ.y 3—d,igt'.t3 b,y I—d,igt'.t.




What is this question a,sla,n,g ws to do?

There are 2,114 seats in a theatre. The theatre is fully
booked for 3 shows. How many people attend overall?



What do you notice about the ones column?

2,114 X 3
Thousands | Hundreds Tens -
e O @ Q0O
0
@0 O @ Q0O
Q0
e O @ Q0O

Th H T O

2 114
3
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On whiteboards:

[2,420 X 4 = 968 eo

Thousands

Hundreds

Tens

&S
OO

OO0

e

OO

Qe

00 00 0O
00 00 0

=R

Th H T O
2420




o Complete the sentences to describe the multiplication. o Nijah is calculating 2,430 x 3
T | H T

She makes this place value chart to help her.

e ©©0 © [000 ™| H|T

©6 co0 [0 000 ®©|gg 8¢
©® ©0 [© 000 °°|°°|°°
There are D ones altogether. @@ gg go
There are |:|uns altogether. Ioo |°
There are |:| hundreds oltogether. She gets the answer 729
There ore thousands al . What mistake has Nijoh made?
[ Jnoonss oosene 5 Bs

What is the correct answer?

e ° Complete the multiplications.

o Complete the multiplication.
Use a place value chart to help you.

o Work out these multiplications.
2,846 x 2
2,846 x 4
2,846 x 8

What do you notice about the answers?

Braiir
Book
Boar

Buda

Boss

o A football stadium holds 2,214 people.
The stadium is full for 4 matches in a row.
What was the attendance for all 4 matches?



What do we need to do with the ones column?

L @g é@ T 3,504 X 5
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Next, what do we do with these hundreds?

T | Th T O 3504 x5
(i X )
@e TTh{Th | H T
©
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FLna,LLH, what do we do with these thousands?

mh | T [ H T O 3504x5
() @0
e D0
@ TTh|Th | H [ T | O
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Lozrktng at the P,La,ce value chart, what will the answer he?

L Th H T e 3,504 X 5
OO 0009
© DO
@@ TTh|Th|H | T | O
©
3(5/01|4
o)
5
117|520
1 2
OO



o Complete the sentences to describe the multiplication. o Nijah is calculating 2,430 x 3
Th \ _g_ | T She makes this place value chart to help her.

e 00 © 000 ™
e 00 [0 (000
©® 00 © |000

(V)
[ Jors e ©0180:°
L — 0/00/00

There are EI hundreds altogether. She gets the answer 729

Thers ore I:] thousands oftoaether. What mistake has Nijoh made?

5 Bs
Brair
Book
Boar

Buda

Boss

What is the correct answer?

e ° Complete the multiplications.

o Complete the multiplication.
Use a place value chart to help you.

€@ Work out these multiplications.
2,846 x 2
2,846 x 4
2,846 x 8
What do you notice about the answers?

o A football stadium holds 2,214 people.
The stadium is full for 4 matches in a row.
What was the attendance for all 4 matches?



Extension a,cth;tH :
Alex calculated 1,432 X 4

Here is her answer.

Th H T O

1 - 3 2

1,432 X 4 = 416,128

Can you explain what Alex has done
wrong?

Can you work out the missing numbers
using the clues?

* The 4 digits being multiplied by 5 are
consecutive numbers.

* The first 2 digits of the product are
the same.

* The fourth and fifth digits of the
answer add to make the third.




i " rue O a Fals e ? Multiply Y-digite by I-digrt

When using column multiplication, always start

with the most significant digit.




Multiply Y-digits by |-digit

False
Start with the least significant digit to give space

to exchange.

| (2|3 | M
S




| c3n resd Roman numerals
to 1000 (M) and recognise

years written in numerals.

| can solve number prob-

lems and practical prob-
lems that invalve all of the

below

| cam rounc any rumber
up to 1000 000 to the
nearest 10, 100, 1000, 10
000 and 200 000 .

Year 5

NUMERACY
TARGET GRIDS

| ean use all & rules of

number to solve mult -
step problems.

BN SONE X BNC - protiems,
scaling by fractions ang ratic

| can seive prodiems inveling
X 8ha ¢ nCluging factoe,
MuUTipies square 8nd Cudes.

can recognise 8nd use squere
and cube numbers.

1 cBN X BNC + WhSie numSers
ang cecrmais oy 10, 10C ane
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o transencn
with 3 decimai piaces \ )
7 ™\ | ! con write % as e fraction
car rsung Seremea wil* 1 Soz- can distnguish Detween 2oz zecTe egLimen
™ol plosza iz s mzarTt ateis m.rr\a ’fqa.'
momber & I3 lzc Sso el plest zigees

\
\

BN rECOgTNSE BNC LSE
10CC=ns ang reiate them Lo
1Cens, 1CCThs ang cecm
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facts and find missing lengths

(

can use negative num-
bers in context; count
forwares anc backwards
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whale numbers through C

| can count forwards or
backwards in steps of
powers of 10 for any given
number upta 1000 000.

answers to calculations.

| can subtract mentally
using increasingly large
numbers.

| can add mentally using

| can use rounding to check

increasingly large numbers.

can divice numBers up o &
digits by 8 oo OF two-digit
number

€30 MUItiply AUMBers U o 4
digis By 8 ooe of two-aigit
Aumber

1<BN eStRDISH whether § num-
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10: To muﬂi‘rdﬂ 2-d.igi.t5 b.y ?-d.l'gl'.t using the area model.

| know what Base 10 is a.nd.huw&mhelpmundzrstandpm
value

fcan.mul.tiply Z-dugtts by ?-djgit using the area model.

F l,a,shbq,clc L .

3_
Complete Zq =73

Write a fraction equivalent to

3

Work out 64 X 23

What is the value of the Y in the nur




) Complete 2% ZI%I O

2
2)  Write a fraction equivalent to 3 [

3)  Work out 64 X 23 CJ

Y) What is the value of the 4 in the nu

—




Thousands | Hundreds Tens -

e © ©0 000

e (O 00 000

e |© ©0 000

1)2,123 X 3 =

2)2,123 x 4 =

3)2,124 X 3 =



e e

5cm

12 X5 =



We need to partition 121

12 cm
10 cm 2Ccm

5cm

10 X 5 = 2 X5=

What do you think we do with the totals?



This is another method for mul,tLP,I.Lca,thm.

12
10 2

EEEEEEEEEN/ O d
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12
10

@aaa|aa|x

5x10 =

2 x10 =




L

There are 10 ones altogether.
There are 5 tens altogether.

What must we do with the 10 ones?



EEEEEEEEEN 0 4d

@aaaaax

There are 6 tens altogether.



Lets compl,eto, this toge,th,er. Show- me the values | need using
the dienes on your tahle.

13 X 4 =
10 3
O iTi177) |l |

000 X

TA group to- work with TA using gr'Ld, bz,mpla,bz, and dienes on Z—d('.gi,t b{./ T—djgi,t.



What do we need to do to solve this p,mble,m,?

Have a think m

20 1

4 X 21 =

@ a a a| Xx




Usi,ng your whitehoards to draw a gnd and
dienes, work out this muLtLpl,Lca,twn pmb,l,e.m,.

7 X 16 = 10 6

OITT1711) etttk @

~
9900008 X




Draw- this chart on whitehoards and lets work it out togethzr.

14 X 21 =
20 1

10

ma e @ al ago | X




42 X 32 =

Have a think m

2
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o Kim is using base 10 to work out 31 x 22

€ Anmir i using base 10 o calculate 31 x 24

Use Kim's model to help you complete the sentences.
a) Add the missing information to the area model and complete

11

Q) Use bose 10 to work out these multiplicotions.
o) 5 x15 b) 3612

There are |:|ones oltogether.

There are |:I tens altogether.
—
qether.

° Use the place value counters to the grid and

There are Dmom’gﬂm’.

There are D hundreds altogether.

5 Bs:

Brain

Book
Board
Bu,d,d,y

Boss

wena[ ]

o Use an area model to help you complete the multiplication.

ﬂ!ﬂxllaz :)35:22:‘:'

Itiplications. €) Work out the multiplication.
31x24

waews[ ] e[ ]




E xtension activity:

Eva says,

What mistake has Eva made?
Explain your answer.

To multiply 23 by 57 | just
need to calculate 20 X
50 and 3 x 7 and then

add the totals.

Amir hasn't finished his calculation.
Complete the missing information and
record the calculation with an answer.

X 40 2

Q000 |C
40 Qeee

o
000000
000000

Farmer Ron has a field that measures
53 m long and 25 m wide.

Farmer Annie has a field that measures
52 m long and 26 m wide.

Dora thinks that they will have the same
area because the numbers have only

changed by one digit each.

Do you agree? Prove it.




Multiply 2-digits (area model)

Mo has multiplied 37 by 23 correctly.

X

30

7

20

60

H

3

2|

6 O




Multiply 2-digits (area model)

False

30 X 20 =600
20 X 7=MH0O

X 30

20
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LO: To multiply 2-digits by 2-diguts.

!k;wwﬂmtfonminudtﬁa&oa&onm%dsmstbzsatoutwiﬂmdigttsm

Hmcomctprmhwwwxms.

| can multiply 2-digits by 2-digits.

I understand. what the role and umportance of O i long multiplication.

Flashback L.

. | s h b k Year 5

Change = to a mixed number

S

5 [ ]

Complete == ==

20 Y
Work out 3,157 X 4

Add together 6,483 and 1,999



18
)] Change 5 to a mixed number D

2)  Complete % :[;l D

I.|

3) Work out 3,157 X Y CJ

4)  Add together 6483 and 1999 (.




=)

1)3x8= 30X 8 =
2)6 X7 = 6x| |=420
3)22 X 13 =

4)22 x 14 =




| LET'S LEARN

H T O
2 3
3 1

23 X 31
X 20 3
30
1

Discuss P,a.rti.ti.oni,ng in the area model.




Wh,y do you think we need a O
when using this column method?

H T O
2 3
X 31
2 3
+16 9 0
/1113




On whitehourds, have a goat this calculation. Draw- out hoth
methods to hz[p, you with each step,.

L3 x 21 H




Do you think we will need to ech,a,nge?
41 X 26

H T O

4 1
X 2 6

(\41 X 20)




What has been fmgotten,?

O
[ 32 X 46 =320 .i..

Th HT O

3 2
X 4 6

19 2
L] 128

320

1 1



Have a go on whithoards to ccmp,beba the calculation.

Th H T O
3 2
(32 X 6)
X 4 6
(32 x 40)




Bruo.i
Boo:
Boa

Bud

Bos.

@ Work out the multipiicotions. © Mo s calculoting 34 x 23
a) 6x6 ) 312x13 e 21x4 Here is his working. o
6 x 60 32x30 21 x40 What mistake has Mo made? "

b) 12x8 d) 7x9 N 48x3 What is the correct answer? 1
12 x 80 7x9%

|

00 MW o

o ©

~
o

[.

° Here are two rectangles.
How did you work out your answers?

© Fitin the missing numbers.
5 » 26m 16m

a) What is the orea of this
= compound shape?

(43 x 3) 1]0|S @1 x5

(43 x 10) 420 (21 x 20)

b) What is the area of the
shoded part?

x
[FRENE R
o w|lw w

Extension ax;ti,\n;ty J [——

Comp thods and with a partner. Tommy says,
What is the some and what is different? a

= Alex says,
g
Do you agree? .‘9%
Explain your answer.
Who is correct?

What mistake t




Tommy wants to find the area of the blue part of the

35 cm

rectangle.

12 cm

7 cm

12 cm

7¢cm

Which two numbers do we need
to m,uLtLpLy tagethzr fi,r'st?

16 cm

What comes next?




a)

12 = 80

@ Work out the multipiicotions.
Q) 32x3
32 x 30

winm|= &
o w|lw w

d) 7x9
7 x9

How did you work out your answers?
' Fill in the missing numbers.

(43 = 3)
(43 x 10)

e 21x4

21 x 40

il 48x3

@1 x5)
21 x 20)

Bruo.i

© Mo s calculoting 34 x 23 3
Here is his working. "W%
What mistake has Mo made? "6 8 B
What is the correct answer? 1—7_L o-m

Boa
Bud

Bos.

° Here are two rectangles.

" " -

a) What is the orea of this b) What is the area of the
compound shape? shoded part?

Extension a,cti,vit\t:/: SR
Tommy says, e

Comp thods and with a partner.
What is the some and what is different?

Itis not possible to
make 999 by
multiplying two 2-digit
numbers.
(e)o)
s Alex says,
s A
Do you agree? ,‘90, 1
Explain your answer.
Who is correct?

What mistake has |




Extension activity:

Tommy says,

It is not possible to
make 999 by
multiplying two 2-digit
numbers.

Do you agree?
Explain your answer.

Amir has multiplied 47 by 36

4 4

@ X 316
2 8 2

1 4 1

3 2 3

Alex says,

T3 Amir is wrong because
@ the answer should be
1,692 not 323

Who is correct?
What mistake has been made?




Multiply 2-digite by 2-digits

These calculations will both give the same

answer.




Arue®r Fals@ ? T

True

Multiplication is
commutative. X | &
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nearest 10, 100, 1000, 10
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step problems.

BN SONE X BNC - protiems,
scaling by fractions ang ratic

| can seive prodiems inveling
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MuUTipies square 8nd Cudes.
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1 cBN X BNC + WhSie numSers
ang cecrmais oy 10, 10C ane

| can use sll four cperations to
schve prodiems invehong
Mmessure LSing cecimal note-
Bon, miuging sceling,

80 30%ve prociem™s Muoiving
converming detween Lnts cf
ame.

can sove protiems Avoiving

@ecimals to 3 gecimal piaces.

l Cen icenDfy. gescrCe ang

represent the positon of 8 o resd end wits decme
|can reaq anc ooer numters Shwpe folloutng @ reflection oF |1 mambers as fractions.
o transencn
with 3 decimai piaces \ )
7 ™\ | ! con write % as e fraction
car rsung Seremea wil* 1 Soz- can distnguish Detween 2oz zecTe egLimen
™ol plosza iz s mzarTt ateis m.rr\a ’fqa.'
momber & I3 lzc Sso el plest zigees

\
\

BN rECOgTNSE BNC LSE
10CC=ns ang reiate them Lo
1Cens, 1CCThs ang cecm

can use the properbes of
rectangles it ceduce reistec
facts and find missing lengths

(

can use negative num-
bers in context; count
forwares anc backwards
with positve and regative

whale numbers through C

| can count forwards or
backwards in steps of
powers of 10 for any given
number upta 1000 000.

| can use rounding to check
answers to calculations.

| can subtract mentally
using increasingly large
numbers.

| can add mentally using
increasingly large numbers.

can divice numBers up o &
digits by 8 oo OF two-digit
number

€30 MUItiply AUMBers U o 4
digis By 8 ooe of two-aigit
Aumber

1<BN eStRDISH whether § num-
ter s prme ang recall prime

| know what each cigit
represents in numbers to

1000 0CO.

| can read , write , order

.

numoers up 1o 19
\

egw Vet

1000 \ _J UhG g can complete, read
\ J > :
and interpret infor-
N SBmetE the YT fract don &
can Mulbply 8ng diice - T —— G Suligly praperhaciens car igennt, ter mumsies of mation ir tables
cepecTy 8nd mixed numbers By whole .

numters mentaily i ' ' ac" Including timetables.

WmDes

con estmete the pren Of S r B k 'J

rreguisr shepes.

can caicuiste and compare
the ares of rectangies
[moiuging squares)

| can messure anc caicute
the perimeter of composite
rectinesr shapes in
centmetres & metres.

| can subtract numbers
with up more than 4 digits

nOW BNC use the vocatulary
of pnme numbers, prime
factors end compesite.

| UNEETSEENG BT use BRETTN-
mete equnaiences Detween

metrc Units sng imperial uniss
$UCh 83 inches B pounds

| can add whole numbers e e, mumzesene fractions whose can icenty 3-D shapes, in-
SAGCOMEINS Mmhers 10 with mare than 4 cigs. *actors incuang Prding 81 20 zouertTetween 2 e cerominetors ere i mumpies || cluging cuses enc otmer o . graph.
at least 1000000 acrer oais 9t mtz of metec measure of the same number. BGids from 2-0 drawings
\ J J J\ AN J

can cenme angies et pent rﬁ
I

onasraigntiinesnd 128 can salve ‘difference’
same genominator and de- tumn praklems using infor-
ROMINSTOrS thet are mumpies ﬁ

e ame uTRer

£3N + BNE=—=TECDONS With the

mation presentec ina

can identify angies at @ point lire graph

BNC e whole Turn.
\ J/
N

€27 reCogTise el nemter
Bnc improper fractions and
convert from one form to
sncther.

can craw e ang messute I can salve ‘sum’
them in degrees (* problems using

informaton present-

1 ec in a line graph
'.I":WI'@CS“ messured In

Gegrees: estmate and com- \ J
Po7E BILtE. Jttuse Bng refiex f*
mngies.

¢an soive ‘comparisen’

S— protiems usng infor
e,

Cen icenDfy, name Bng wrae
equraient fractons of B gven
fracoen

£3n compere and order

meton presentec ing

Multiplication and

Division
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LO: To L-digtts by 2-diglts.

Ikrwwtfmtfmmlmdﬂplm&onmzﬂwdsmustbzsatouiwﬂhdtgdsm
the correct place value columns.

| can multinly L-digits hg 2-dlgl.t.s.

| understand what the role and importance of O in long

¥
)] Complete the sequence |§, Ig, —_—

2) Write E as a mixed number.

3

3)  Divide 865 by 5

1) Write down a 5-digit number with a 6

hundreds column.




2 3
)] Complete the sequence '5’ | 5

17

Z) Write 5 as a mixed number.

3) Diwide865by5 ()

4Y)  Write down a S-digit number w
hundreds column. C




—>

1) 1x415=
2) 100 x 415 =
3) 200 x 415 =

4)  415x201 =



[EXD 5313 x 32 =

TThTh H T O
-7

2 3 153:

% 31y
== (2,313 x 30)

(2313 x _2)




6,324 X 33 =

TTh Th H T O
6 3 24

3 :_93:

\ !

(6,324 x 3)
(6,324 x 30)




On your whitehonrd.s.
4,145 X 52 =

Have a think m
TTh Th H T O

4 1 4 5
X 5 2




4,145 X 52 =
Have a thinkm

TTh Th H T

4 1 4

5

8 2 9

X

2 0 7 2 5
> s

2 1 5 5 4

1 1

(4,145 x 2)

(4,145 x 50)

oO|l o Oo|N U1 O




Can you spot the three errors? m

Have a think
TThTh H T O
540 2
v 2 4
2 16 4 8
AR (5402 x 4)
T 1 08 245402 x 20)
32 47 2

Can you expta,i,n, wh,y these are errors?



° Complete the calculations.

Extension activity:
Teddy has s¢
lculation.
Spot the Mistakes e
Can you spolt and correct the errors in |
the calculation? x
© Work out the muttipiications. © 2 shop buys football shirts for £39 each and sells them for :
£49 each. 2|5 3 4
a) 4511 x 23 d) 8,001 x 26 eI I lzlsl ]
a) The shop buys 2,700 football shirts.
b) 5,037 x 15 ) 9,261 x 11 How much does it cost? (Ll B Dl -
S 0 6 8
9 74x1,156 f) 49 x 3,860 _— What ara tha
b) The shop sells all the football shirts. 1]2]e]s]0
—_— What do you
How much profit does it make?
o Find the product of 5,604 and 81 Could you have worked it out a different woy?




Extension activity :

Spot the Mistakes

Can you spot and correct the errors in
the calculation?

Teddy has spilt some paint on his
calculation.

-9
D'HQ
L ]
X 2 .
2| 2]|9]|.5]2
-y )
5 [.7 |.3 0
_.-.
!0332

What are the missing digits?

What do you notice?




9,201 X 34 = 36,407




Muttiply Y4-digits by 2-digits
- basic pro :

False

5,20l has been multiplied by 4 and 3
rather than 4 and 30

9,201 X 34 = 176,834




| c3n resd Roman numerals
to 1000 (M) and recognise

years written in numerals.

| can solve number prob-

lems and practical prob-
lems that invalve all of the

below

| cam rounc any rumber
up to 1000 000 to the
nearest 10, 100, 1000, 10
000 and 200 000 .

Year 5

NUMERACY
TARGET GRIDS

| ean use all & rules of
number to solve mult -
step problems.

BN SONE X BNC - protiems,
scaling by fractions ang ratic

| can seive prodiems inveling
X 8ha ¢ nCluging factoe,
MuUTipies square 8nd Cudes.

can recognise 8nd use squere
and cube numbers.

1 cBN X BNC + WhSie numSers
ang cecrmais oy 10, 10C ane

| can use sll four cperations to
schve prodiems invehong
Mmessure LSing cecimal note-
Bon, miuging sceling,

80 30%ve prociem™s Muoiving
converming detween Lnts cf
ame.

can sove protiems Avoiving

@ecimals to 3 gecimal piaces.

l Cen icenDfy. gescrCe ang

represent the positon of 8 o resd end wits decme
|can reaq anc ooer numters Shwpe folloutng @ reflection oF |1 mambers as fractions.
o transencn
with 3 decimai piaces \ )
7 ™\ | ! con write % as e fraction
car rsung Seremea wil* 1 Soz- can distnguish Detween 2oz zecTe egLimen
™ol plosza iz s mzarTt ateis m.rr\a ’fqa.'
momber & I3 lzc Sso el plest zigees

\
\

BN rECOgTNSE BNC LSE
10CC=ns ang reiate them Lo
1Cens, 1CCThs ang cecm

can use the properbes of
rectangles it ceduce reistec
facts and find missing lengths

(

can use negative num-
bers in context; count
forwares anc backwards
with positve and regative

whale numbers through C

| can count forwards or
backwards in steps of
powers of 10 for any given
number upta 1000 000.

| can use rounding to check
answers to calculations.

| can subtract mentally
using increasingly large
numbers.

| can add mentally using
increasingly large numbers.

can divice numBers up o &
digits by 8 oo OF two-digit
number

€30 MUItiply AUMBers U o 4
digis By 8 ooe of two-aigit
Aumber

1<BN eStRDISH whether § num-
ter s prme ang recall prime

| know what each cigit
represents in numbers to

1000 0CO.

| can read , write , order

.

numoers up 1o 19
\

egw Vet

1000 \ _J UhG g can complete, read
\ J > :
and interpret infor-
N SBmetE the YT fract don &
can Mulbply 8ng diice - T —— G Suligly praperhaciens car igennt, ter mumsies of mation ir tables
cepecTy 8nd mixed numbers By whole .

numters mentaily i ' ' ac" Including timetables.

WmDes

con estmete the pren Of S r B k 'J

rreguisr shepes.

can caicuiste and compare
the ares of rectangies
[moiuging squares)

| can messure anc caicute
the perimeter of composite
rectinesr shapes in
centmetres & metres.

| can subtract numbers
with up more than 4 digits

nOW BNC use the vocatulary
of pnme numbers, prime
factors end compesite.

| UNEETSEENG BT use BRETTN-
mete equnaiences Detween

metrc Units sng imperial uniss
$UCh 83 inches B pounds

| can add whole numbers e e, mumzesene fractions whose can icenty 3-D shapes, in-
SAGCOMEINS Mmhers 10 with mare than 4 cigs. *actors incuang Prding 81 20 zouertTetween 2 e cerominetors ere i mumpies || cluging cuses enc otmer o . graph.
at least 1000000 acrer oais 9t mtz of metec measure of the same number. BGids from 2-0 drawings
\ J J J\ AN J

can cenme angies et pent rﬁ
I

onasraigntiinesnd 128 can salve ‘difference’
same genominator and de- tumn praklems using infor-
ROMINSTOrS thet are mumpies ﬁ

e ame uTRer

£3N + BNE=—=TECDONS With the

mation presentec ina

can identify angies at @ point lire graph

BNC e whole Turn.
\ J/
N

€27 reCogTise el nemter
Bnc improper fractions and
convert from one form to
sncther.

can craw e ang messute I can salve ‘sum’
them in degrees (* problems using

informaton present-

1 ec in a line graph
'.I":WI'@CS“ messured In

Gegrees: estmate and com- \ J
Po7E BILtE. Jttuse Bng refiex f*
mngies.

¢an soive ‘comparisen’

S— protiems usng infor
e,

Cen icenDfy, name Bng wrae
equraient fractons of B gven
fracoen

£3n compere and order

meton presentec ing

Multiplication and

Division
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Artthmetic [O: TUM and order numbers.

| knowr that the value of a dlql,t differs dzjn.mdm.q on Us lal'wzz vrlue.

| can compare and order numbers.

| understand what the terms a,_soznd.mg and d;zsw;,d.m:q mean and how
order nuwmnhbers ar_cm'cb.."ﬂig.

to




White

Make a Number
| had:
Tl

What number do | have?
How- many thousands does this numhber have?

()
e
o0
oo

9993000 0« ¢ ..
Q000OLC ¢ @.l




White

Place Value Grid
What is the value of the digit 87
Thousands Ones

HO TO| o®| H®| 10O 0 ©

3 / L 8 6 7
What is the value of the dLg it 37
et s e
000000 @ <, 300




Place Value Grid
What is the value of the digit 47

Millions Thousands Ones

H | T[] o | HO 1O o® HQ TO| 0@

215141813196

What is the value of the dig it 27

e 2
000000 ¢ I, eoee

o®




Place Value Grid
Tth© Th® H® 7O 0[®)

Which number has the greatest value? How- do you know?
P99 00 ¢ ¢

000000 ot J |..E

0o
a0
a0
00




Place Value Grid
Tth© Th® H® 7O 0[®)

Which number has the greatest value? How- do you know?
P99 00 ¢ ¢

000000 ot J |..E

0o
a0
a0
00




White

Number Line

On whitehowrds, draw- out a numhber line and order these numhbers
in a,sce,nd,:;ng order.

"t

L4,607

L 627
s 06 L 587
How- did you work out the order?

P99 000 @ ¢

000000 @ J .|..E:::

o®




White

Number Line

On whitehowrds, draw- out a numhber line and order these numhbers
in dzscend,cn,g order.

"t

29,7246 23,300

How- did you work out the order?

osesco - IR
Q00000 ot <, °

(]
e
oe
o0
oo




Compare

%

23,457 | (O | 23.486 |"

> — < H

greater than  equal to less than ||,
9993000 0 ¢

Q00000 ot <,




1) Place. these numhbers in a.sazndmg order:
35692 35,612, 36,693 36, 650

2) Place these numbers in descending order:
12,825 12,425, 12,625 12,325

3) These numbers are placed in descending order. Are they all
in the correct place?

25, 452 25, 352 25, 552 25,252
Exp!.am hmnryo'u. know-

#}Usethzcarrzctphmmhmptztzﬂusnwnberwm.

L5, 671 is L5, 571.
Greater than Eqml to less than

5) Use the correct symb,oi ttrwmplete this number sentence.
553, 281 563, 281

<
Exp!um }wwyou. know-

Abu Dhabi 5480 Barcelona 1139
= =

2%

L
Delhi 6718
= &

o

nburg 1039

Cape Town 9680
E 3




Extension

The numhbers repmsen.t the Img this oj’ thel

Puf them in des cerld,mg order.

9

e

- Abu Dhabi 5480 Barcelona 1139 ~ Cape Town 9680
- ' ’ il t
e =5 5 |~ \
R ™ |‘ » t : “
S ‘
' Delhi 6718 Edmonton 6805 Florence 1209
— - e e ._7__2“\ - ;\ ‘A
N
Gothenburg 1039 Houston 7812 Istanbul 2501
= ) P e o
: - T
..... /, e
Jerusalem 3611 Karachi 6314 Lauceston 17425
[ e ’L\ - . . - JERS - 7
- - -'*.,7 'y .- - ¥ k“—_-
- ;,'




True or faise: you need to look in the hundreds column to

PLQ,—I'LGJ}{_ compare these two  numbers.

Millions Thousands Ones

H T 0 H T 0O H T 0]

3/5/7(28|6]|%h

Millions Thousands Ones




to 1000 (M) and recognise

years written in numerals.

| can solve number prob-
lems and practical prob-
lems that invalve all of the
below

| cam rounc any rumber
up to 1000 000 to the

nearest 10, 100, 1000, 10
000 and 200 000 .

| can read Roman numerals

Year 5

NUMERACY
TARGET GRIDS

| ean use all & rules of

number to solve mult -
step problems.

(

can use negative num-
bers in context; count
forwares anc backwards
with positve and regative

whale numbers through C

| can count forwards or

backwards in steps of
powers of 10 for any given
number upta 1000 000.

| can use rounding to check

answers to calculations.

| can subtract mentally
using increasingly large

rumbers.

| can add mentally using
increasingly large numbers.

| kmow what each cigit
represents in numbers to

1000 0CO.

BN SONE X BNC - protiems,
scaling by fractions ang ratic

| an soive prodiems involing

can sove protiems Avoiving
@ecimals to 3 gecimal piaces.

| can need @nc O7Oe" NuUMTers
Weh 3 cecme Deces

l Cen icenDfy. gescrCe ang

represent the positon ofe
shepe folicwing & reflecton or
transietion

8% givice numBers up 1o &
digits by 8 one o two-digit
numoer
e —

€30 muUtiply numBersupte &
dighs by 8 coe o two-gigit
Aumder
—_—
1¢an estadisn whetner § num-
ber is prime anc recall prime

numders up to 19
\

con estmete the pren Of
rreguisr shepes.

can caicuiste and compare
the ares of rectangies
[moiuging squares)

| can meesure and caicuete
the penmeser of composee

rectinesr shapes in
centmetres & metres.

| can read , write , order

and compare numbers to
at least 1000 000

| can subtract numbers
with up more than 4 digits

| can add whole numbers
with maore than 4 digits.

nOW BNC use the vocatulary
of pnme numbers, prime
factors end compesite.

can gentfy mulpies eng
factors inciuding finding &l

factor peirs
-

| UNEETSEENG BT use BRETTN-
mete equnaiences Detween

metrc Units sng imperial uniss
$UCh 83 inches B pounds

can convert between differ
ent units of metric messure

€3N rEBC 8°C write Jeaime
mumzers 8s fractons.

X 8ha ¢ nCluging factoe, . J/
MuTipies square 8na cudes. | can use ol four cperations o N\ N\ | con write % a5 0 tracron

1eve sresiems imeing :" :'"f'_“"" . :’"' a0 giEbrgusn Detween sz cecme eguir e

mol plasza iz Pz rrarzal whsie .
messure usng cecme Aot S reguiar and rreguis
e member &Iz 1z Srreal plase sivmzag
can recognise Bnd Use sgqusre tan, neluding scaling )= vV y
#nd cute numbers.
T €3N reCOgTise BNC Use: can ust the pro of

80 30%ve prociem™s Muoiving 100CenRs ang relete them o B

I can X an Noie numoe rectangles it ceduce reistec
o N L 10tns, 100Ens Bng cecem
anc cecrmas oy 10, 10C enc Hre i facts and find missing lengths
1000 S—— rorger &
0 \ _J - can complete, read
- > .
and interpret infor-
4] t™he ™ 7 £

can mumoy ang o ce c2n estmste the LTy e BT can muitply proper frachians con igentity other multipies of mation in tables

capacty anc mixed numBers By whole |
numters mentaily i ' ' ac" Including timetables.

UmDeTs.
/ \.

J

£3N + BNE=—=TECDONS With the
same cenominetor 8nd ge-
ROMINETOTs thet ere mumpies
e ame uTRer

€27 reCogTise el nemter
Bnc improper fractions and
convert from one form to
sncther.

Cen icenDfy, name Bng wrae
equraient fractons of B gven
fracoen

£an compare eng oroer
frachions whese
cetominetzrere s mumpes
of the same numBer.

~
€an identfy angies ot point

onesraigntiine and 128
wn
—

can igenafy angies st 8 point
BNC Cre whote Turn.

I

can solve ‘difference’
problems using infor-
mation presentec ina
lire graph

\ J

can craw e ang messute
them in degrees (*

khSw angies sre messured in
Gegrees: estmate and com-
pere iute, Ottuse ang refiex
ngies
)
S —

can oentfy 3-D shapes, in-
cluging cuoeseng other oo

Soigs from 2-0 drewings.
.

~N

| can salve “sum
prablems using
informaton present-
ec in a line graph

|
——

<on scive ‘compensen’
protiems ysing infor-
meton presentec ing
ne graph.

Multiplication and

Division




